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SANT NIRANKARI PUBLIC SCHOOL,TILAK NAGAR
ASSIGNMENT -1 ( APRIL 2020-2021)
SUBJECT - MATHEMATICS
CLASS VII
CHAPTER - FRACTIONS AND DECIMALS

1. Simplify:-

(1)48.19 — 7.723 +(11.03 +0.003)

(ID{ (-7/12 )x( -3/14)} + {(-3/5 )x (-6/15)}

2. A pencil cost Rs. 1.25. How many pencils can be bought for Rs. 75?

3. If 12 bags of rice weigh 126 kgs, then find the weight of 3/2 bags of rice.
4. A man travels 3/8 of his journey by train, 3/5 of it by bus and walks the
rest of the distance .If he walks 2 km ,how much distance he travels by bus?
5. Write the following as decimals:

(1) 13/5 (ii) 7/9 (iii) 47/125 (iv) 133/8

6. What number should be subtracted from 30 to get 23.709

7. Sheetal's age is 2/3 of the age of her brother. If brother's age is 45 years,
how old is Sheetal?

8. Arrange in ascending order

7/9,12/5 ,1/21, 5/6

9 Kareena has Rs. 45.65.She gets Rs. 15.8 from her father. She spent Rs. 39.5 on
lunch.How much balance is she left with?

10 Divide:

(2)0.64 by 0.4

(p)0.0108 by 0.012

(c) 2.13204 by 3.26



SANT NIRANKARI PUBLIC SCHOOL,TILAK NAGAR
ASSIGNMENT - 2 (APRIL 2020-2021)
SUBJECT - MATHEMATICS
CLASS VII
CHAPTER - SIMPLE EQUATION

1. Solve the following equations and verify your answer.

(i)3(x+7)=18

(ii)2(x-1)=x+2

2. If 5is added to twice a number the result is 29. Find the number.

3. Solve:-

(i) (2x/3) =5=(3x/4) + 1

(i) (2p—1)/2 + % = (p+1)/6

(iii) (3m-5)/2 = (2m-5)/3

4. The length of a rectangular floor is 5 m longer than the width. If the
perimeter of the floor is 86m, find the dimensions of the floor.

5. Find two consecutive even numbers whose sum is 73.

6. Sunil's father is 3 times as old as Sunil. After 10 years his age will be twice
the age of his son. Find their present ages.

7. Thrice a number when decreased by one fourth of a number gives 11. Find
the number.

8. Two sides of an isosceles triangle are (3x-1) units and (2x+2) units. Third
side is 2x units. Find x and perimeter of triangle.

9. One -third of a number exceeds one -sixth of the number by 4.Find the
number?



SANT NIRANKARI PUBLIC SCHOOL,TILAK NAGAR
ASSIGNMENT - 3 (APRIL 2020-2021)
SUBJECT MATHEMATICS
CLASS VII
CHAPTER - PERIMETER AND AREA

1Find area of a parallelogram whose base is 5m 60 cm and height is 75 cm.
2Find the height of a parallelogram whose area is 54 cm and base is 15 cm.

3 In a parallelogram AB is parallel to CD, AB= 18 cm, BC=12 cm, AL is
perpendicular to DC and AM is perpendicular to BC. If AL= 6.4 cm, find the
length of AM.

4Find area of a triangle whose base is 42 cm and height is 35 cm.

5Find the base of a triangle whose area is 90 cmz2and height is12 cm.

6The circumference of a circle is 364 cm, find its area.

7 A square field of side 78 cm is to be fenced with barbed wire that has to go
around the boundary four times. How much wire will be required? What

will be the cost of fencing if the wire cost Rs. 55 per meter and labour
charges are Rs. 21507

8 Find the cost of planting grass in a circular lawn of radius 21 m at the rate of
Rs. 15 per sqm. Also find the cost of fencing the lawn at the rate of Rs. 5 per
m.

9 A rectangular grassy plot is 112 m long and 78 m broad. It has a 2.5 m wide
gravel path all around it on the inside. Find the area of the path and the

cost of constructing it at Rs. 120 per ma.

10 A rectangular lawn 70 m by 50 m has two cross roads each 5 m wide,
running through its middle, one parallel to its length and the other parallel
to its breadth. Find the cost of constructing the roads at Rs. 120 per m2



SANT NIRANKARI PUBLIC SCHOOL,TILAK NAGAR
ASSIGNMENT - 4 (APRIL 2020-2021)
SUBJECT - MATHEMATICS
CLASS VII
CHAPTER = INTEGERS

Q:-1. Simply 65+(-13)+(-72)+ (-8)

Q:- 2.Product of two integers is -437 . If one integer is 23, find the other.
Q:- 3. A shopkeeper earns a profit of Rs. 1 by selling a pencil and a loss of 20 paisa
by selling an eraser.

(i) In a given day he had a loss of Rs. 10. On this day, he sold 35 pencils.
How many erasers were sold on this day.

(ii) Next day, he earn a profit of Rs. 25. On this day he sold 100 erasers.
How many pencils did he sell.

Q:- 4. Simplify:

(i) 5-{3-[2-(2x(-3)+1)+(3-5)]}

(ii)7-[6-{5+(1-3+4}]

Q:- 5. Seeing the poor and under privileged children in the neighborhood, a
resident of Bharat Nagar decided to distribute 1 shawl and 1 blanket
during winter to every needy person. The cost of shawl is Rs. 350 and cost
of a blanket is Rs. 650.

(i) find the total number of shawls and blankets distributed if there are 82
houses contributing Rs. 500 each.

iiWhat value do you learn from this situation.

Q:- 6. Using suitable property evaluate the following :-

(i) 8 x 53 x (-125)

(i) 26 x (-48) + (-48) x (-36)

(iii) 15 x (-25) x (-4) x (-10)

Q:- 7. Divide (- 125) by 25 and then add the quotient to the product of (- 30) and
(-3).

Q:- 8. Given thata =(-10), b =7 and c = (-3) , verify that addition is commutative
and associative . Also show that subtraction is neither commutative nor
associative .

Q:- 9. What should be divided by (-7) to obtain 12 ?

Q:- 10 Subtract:

I(- 66) from (-34)



11318 from O

Il - 76 from O

IV -56 from 144
V-153 from -240



SANT NIRANKARI PUBLIC SCHOOL,TILAK NAGAR
ASSIGNMENT -5 (APRIL — 2020-2021)
SUBJECT - MATHEMATICS
CLASS VII
CHAPTER - COMPARING QUANTITIES

1. The length of a playground is 80m 50cm and breadth is 63m. Find
the ratio of:

(i) length to breadth

(i) length to perimeter

2. In a cricket match Dhoni and Dravid scored 185 runs. If their score
was in the ratio 18:19, how many runs did each of them score?

3. A car travels 72 km on 6 litres of petrol.

(i) How far will it go on 13 litres of petrol?

(i) How much petrol will be needed to go 108 km?

4. Convert (i) 1:2:5 to percentage

5. If x% of 36 is 45, find x?

6. Express as a fraction in simplest form and as a decimal.(a)33%
(0)12.5%

7. In an examination 17% of the students fail. What percentage of
students pass? How many students will pass if 900 students appear

in the examination?

8. The price of a car increases from Rs. 1,75,000 to Rs. 1,85,000. Find
the percentage increase?

9. Rohan bought 20 pairs of shoes at Rs. 300 per pair. He sold 15 pairs
at Rs. 350 per pair and the remaining at Rs. 280 per pair. Find his
gain or loss percent?

10. A grocer bought 480 eggs at Rs. 18 per dozen. He sold them at a
gain of 15%. Find the selling price of 100 eggs.

11. A farmer borrowed Rs. 15,000 from a money lender at 13% per
annum simple interest. At the end of 3 years he settled the account
after paying Rs. 8000 cash and a motorcycle. Find the value of the
motorcycle?

12. Rajni borrowed Rs. 2000 from a friend for 2 years at 12% per
annum and Rs. 3000 from the bank for 2 years at 15% per annum.
How much total interest did she pay?

13. Nikhil borrowed some money from a moneylender at 10% p.a. He
paid Rs. 3000 as interest after 2 years. How much money did he
borrow?

14. Out of her total monthly income, Mrs. Saxena spends 30% on house
rent and 60% of the rest on household expenses. If she saves Rs.
6300 per month, what is her total monthly income?

15. A man sold two radios at Rs. 4,800 each. On one he gains 20% and
on the other he loses 20%. Find the gain or loss percent in the



whole transaction?
16. In what time will Rs. 3,600 amount to Rs. 4320 at 8% per annum
simple interest?



SANT NIRANKARI PUBLIC SCHOOL,TILAK NAGAR
ASSIGNMENT - 6 (APRIL 2020-2021)
SUBJECT - MATHEMATICS
CLASS VII
CHAPTER = EXPONENTS

1. Simplify the following using suitable exponential law.

(i)62x 3=

(ii)12 x 123x12%=

(iii)—83=

2. Write the following in exponential form with prime number as a base.
(i) —83

Q:-3. Evaluate

(i)32x9

(i) 2° x 10

(i) 52 x 25

(iv) 4% x 22

4. Simplify the following

(i) 273 + 93

(i) (2° x 59 x 8%)/ (2°+ 5%+ 89)

Q:-5. Simplify

(i) 3° +8) + 3

(i) (52 x 5%)/57

Q:-6. Write the following is standard form

() 5762

(i) 370000000

(iii) 362.78

Q:-7. Write the following in their usual form

(i) 4.00072 x 107

(i) 3.9 x 10°

(i) 23456 x 102

Q:-9. The star Sirius is about 8.1x103 Km from Earth . Assuming that light travels
at 3x10° Km/sec. Find how long light from Sirius takes to reach earth .
Q:-10. Find the value of x —

—6% =-216



SANT NIRANKARI PUBLIC SCHOOL,TILAK NAGAR
ASSIGNMENT - 7 (APRIL 2020-2021)
SUBJECT - MATHEMATICS
CLASS VIl
CHAPTER - PROBABILITY

1. In 2010, there was a survey of 200 people, it was found that 82 like orange juice
while 118 dislike it. From these people, one is chosen at random. What is the probability
that the chosen people dislikes orange juice?

2. Write the sample spaces of tossing 3 coins.

3. What is the probability of obtaining vowels from ‘* INDEPENDENCE'.

4. What is the probability of obtaining less than 2 while throwing a dice?

5. What is the probability of obtaining the red face cards from the deck of cards?

6.In a bag there are 5 red balls, 7 green balls, 10 blue balls. Find the probability of
obtaining

(i) red balls

(ii) green and blue ball



SANT NIRANKARI PUBLIC SCHOOL,TILAK NAGAR
ASSIGNMENT - 8 (APRIL 2020-2021)
SUBJECT - MATHEMATICS
CLASS VII
CHAPTER - RATIONAL NUMBER

1. Find x such that 5x/27 and 45/81 are equivalent rational number.

2. Arrange the rational numbers (-6/7), 5/21 , -3/14 , 4/7 in descending

order.

3. Rahul walks 2/3 km from a place P towards east and then from there 1.5

km towards west. What is his position now from P?

4. What should be added to (-13/4 + 3/8 ) to get 1?

5. Subtract the sum of -4/5 and 3/15 from the sum of -2/7 and 11/21

6. A bus is moving at an average speed of 66 km/h.How much distance will it cover in
7/5 hours?

7. The product of two rational number is(-1/26) . If one of the numbers is 8/39, find the
other.

8. How many pieces, each of length 3 % m, can be cut from a rope of length 30m?

9. Find 4 rational numbers between (- 5/11) and 3/11 & plot than on number line.
Q.10. Simplify :-

| {(-8) x1/5} + [ 6/11 -(-1/11)] - {-3/5x 1/7 }

II [(-5)/6 — 1/3] / [ 2/3 -(6/5)]



SANT NIRANKARI PUBLIC SCHOOL,TILAK NAGAR
ASSIGNMENT -9 (APRIL 2020-2021)
SUBJECT - MATHEMATICS
CLASS VII
CHAPTER — TRIANGLES AND ITS PROPERTIES

1. A picture frame is of 80 cm by 60 cm. Find its diagonal.

2. A pilot is flying south west. After flying 50 km, he knows that he is 30 km
west from the starting point. How far south from the starting point.

3. Is it possible to have a triangle with the following sides?

a) 2cm, 3cm, 5cm

b)4.5cm, 2.5cm, 8 cm

c)10.2cm, 5.8 cm, 4.5 cm

d)3.4cm,4.7cm, 6.2 cm

4. If the length of two sides of a triangle are 7 cm and 10 cm. What can be the
length of the third side.

5. Find the area and perimeter of a rectangle whose length is 15 cm and
diagonal is 17 cm.

6. If the diagonals of a rhombus measure 10 cm and 24 cm. Find the perimeter.
7. If the two acute angles of a right triangle are in the ratio of 7:8, find these
angles

8. If the angles of a triangle are (3x), (2x-7) and (4x-11), then find the value of
X.

9. In an isosceles triangle, the vertical angle is 15 more than each of its base
angles. Find all the angles of the triangle.



SANT NIRANKARI PUBLIC SCHOOL,TILAK NAGAR
ASSIGNMENT - 10 (APRIL — 2020-2021)
SUBJECT - MATHEMATICS
CLASS VII
CHAPTER - ALGEBRAIC EXPRESSION

1 Write algebraic expressions for the following:-
(i) The sum of the square of x and cube of y.
(ii) The product of p and q subtracted from the sum of x and y.
2 Identify the terms and their factors (by tree diagram or tabular form):-
(i) 2x2%+3x-11
(ii) 5ab-3a?-5bx
3 Write the coefficient of
(i) y2in 2y-11-5y2
(i) xin2x+5
4Classify the following as monomial, binomial and trinomial
(i) 3x - 7y (ii) 100 (iii) 7x2+3x+5
5. (i) Write a monomial in variable y.
(ii) Write a binomial in variable x.
6. Simplify by combining like terms 7x2+11xy-7-23xy+11x2+10
7. Add 13x3+49xy-33y2-12x2 and -15x2-xy-17y2+39
8. Subtract 5ab-6a-3b from -11ab-5a+7b
9. Simplify and then find the value when a =(-1), b =2, ¢ =(-3) - abc+12ab-a+b
10. The perimeter of a triancle is 5xy+7x2-13y. If its sides are 2xy-13 and17x2+5 .
Find the third side of the triangle.



SANT NIRANKARI PUBLIC SCHOOL
(MONTH-APRIL)Assignment-1

Class — VIl Science (Motion and Time)

1. Change in position with respect to the surroundings is called
a. Force

b. Motion

c. Momentum

d. Movement

2. The earliest clocks for measuring time during day were
a. Sand clocks

b. Pendulum clocks

c. Sundials

d. Stop watches

3. The speed of the vehicle is recorded by

a. Odometer

b. Speedometer

c. Voltmeter

d. Ammeter

4. S.I unit of speed is

a.m/s

b. km/h

c.m/h

d. km/s

5. Match the following

Column A Column B

a. Odometer i. 100 years

b. Speedometer ii. 1000 m

c. One kilometer iii. Total distance covered

d. One hour iv. Speed of vehicle

e. A ceb6. Fill in the blanks.

a. Distance traveled by a body in unit time is called ----------------- .

b. 72 km/h is equal to ---------------- m/s.

c. Distance covered = -------------- X time.

d. A mineral used in the crystal form in watch is ------------- .

e. A body is said to be in ------------ of it covers equal distance in equal interval of
time.

7. Define motion? Write its S.I unit of speed?

8. What is odometer? What is its function?

9. Write difference between uniform and non- uniform motion?
10. Give one word for the following explanations:

a. Meter fitted in vehicle to measure the speed.

b. Total distance covered by a body in unit interval of time.

c. Change in position of a body with time.

d. Time interval of 1000 years.

e. Watch used to measure exact time taken during the event.ntury v. 3600 sec.



SANT NIRANKARI PUBLIC SCHOOL
(MONTH-APRIL)Assignment-2

Class — VIl Science (Motion and Time)
1. One hour is equal to
a. 600seconds
b. 1200seconds
c. 1800seconds
d. 3600 seconds
2. Which is the most accurate watch?
a. Stop watch
b. Atomic watch
c. Quartz clocks
d. Digital clock
3. S.I unit of time is
a. Second
b. Minute
c. Hour
d. Day
4. Speed time graph is straight line for
a. Non-uniform motion
b. Uniform motion
c. Accelerated motion
d. Constant motion.
5. Match the following
Column A Column B
a.200 kmin 4 hrs.i. 20 m/s
b.150 min 5 s ii. 36 km/hrs.
c. 10 m/s iii. 2 m/s.
d. 72 km/hrs. iv. 50 km/hrs.
e. 120 m in 1 minute v. 30 m/s

6. Write T for true and F for false statements.

a. Speed is a scalar quantity.

b. Light travel faster than sound.

c. Speedometer is used to measure speed of vehicle at particular time.

d. Car always travels with uniform motion.

e. S.I unit of distance is kilometer.

7. Define speed? What is the speed of a car that covers 120 km in 2 hours?
8. What is uniform motion? Why speed of a vehicle is not always uniform on roads?
9. Write difference between motion and rest?

10. Arrange the following slowest to fastest speed.

a. Speed of a car.

b. Speed of aero plane

c. Speed of bicycle

d. Speed of walking

e. Speed of auto-rickshaw



SANT NIRANKARI PUBLIC SCHOOL
(MONTH-APRIL)Assignment-3

Class — VIl Science (Motion and Time)
1. Change in position of a body is called
a. Motion
b. Speed
c. Rest
d. Acceleration
2. A car is moving with 72 km/hrs. The speed of car in m/s is
a.20 m/s
b.25m/s
c.30m/s
d.40 m/s
3. Stop watch is used to measure
a. Correct time
b. Total distance traveled
c. Exact time during the event.
d. All of these
4. Pendulum clock is based on
a. Newton'’s observation
b. Galileo’s observation
c. Archimedes observation
d. Chadwick observation
5. Match the following
Column A Column B
a. Frequency i. Time taken to complete on vibration
b. Vibration ii. No of vibration per second
c. Time-period iii. To and fro movement
d. Oscillation iv. Periodic movement
e. Frequency v. Movement along common axis.

6. Fill in the blanks
a. One microsecond is ------------ of a second.
b. ------mmee- of object helps us to decide which one is moving faster than the

c. All clocks are based on ---------------- events.

d. The slop of a distance- time graph represents ---------------- .
€. ==-==-mmmmmmees is used to measure short interval of time.

7. A truck travels 540 km in 4.5 hrs. Find the speed of truck.
8. When is an object said to be in state of motion?

9. What is difference between speed and velocity?

10. Name the following

a. A repetitive motion which takes place at equal intervals of time.
b. Number of vibration per second.

c. Time taken to complete one oscillation.

d. S.I unit of time.

e. Watch that give more accurate time than pendulum clock.



SANT NIRANKARI PUBLIC SCHOOL
(MONTH-APRIL)Assignment-4

Class — VIl Science (Nutrition in Plants)
1. Plants prepare their food by the process of
a. Respiration

b. Photosynthesis

c. Transpiration

d. All of these.

2. The organism that can prepare their own food are called
a. Heterotrophs

b. Consumers

c. Decomposers

d. Autotrophs

3. Which of the following is not required by plant for food synthesis?
a. Water

b. Oxygen

c. Carbon dioxide

d. Chlorophyll

4. Which one is an insectivorous plant?

a. Banyan tree

b. Cuscuta

c. Pitcher plant

d. Neem plant

5. Match the following.

Column A Column B

a. Autotrophs i. Tiger

b. Heterotrophs ii. Mushroom

c. Carnivores iii. Cuscuta

d. Saprophytes iv. Green plants

e. Parasite v. Animals

6. Fill in the blanks

a. Green plants are called ----------------- , since they synthesize their own food.

b. Oxygen is released by plants during ------------------ .

C. ---=m--mmmmmmmmoe- live on dead and decaying animals.

d. --------mmem oo is the green coloured pigments present in leaves.
e. The food synthesized by the plants is stored as ------------------- .

7. What is photosynthesis?

8. Distinguished between parasite and saprophytes.

9. What are insectivorous plants? Give two examples.



SANT NIRANKARI PUBLIC SCHOOL
(MONTH-APRIL)Assignment-5

Class — VIl Science (Nutrition in Plants)
1. In the process of photosynthesis, the gas given out by green leaves is
a. Oxygen
b. Carbon dioxide
c. Nitrogen
d. Ozone
2. To test the presence of starch by iodine, the green leaf is first boiled in alcohol to
a. Dissolve chlorophyll
b. Remove starch
c. Make the leaf soft
d. Make the leaf transparent
3. Which of the following is an insectivorous plant?
a. Cuscuta
b. Croton
c. Nepenthes
d. Lichen
4. Plant eating animals are called
a. Omnivorous
b. Carnivorous
c. Herbivorous
d. Insectivorous
5. Match the following:
Column A Column B
a. Exchange of gases i. Rhizobium
b. Nitrogen ii. Chlorophyll
c. Autotrophs iii. Stomata
d. Omnivores iv. Green plants
e. Photosynthesis v. Bear

6. Write T for true and F for false statements.

a. Green plants prepare their food hence they are Autotrophs.

b. Carbon dioxide gas is released in the process of photosynthesis.
c. Carnivores are flesh eating animals.

d. Minute pores on the leaf surface are called stomata.

e. Cuscuta is an insectivorous plant.

7. What is the mode of nutrition in plants?

8. What is symbiotic relationship? How it benefits the organisms?
9. Why green leaf is boiled in alcohol before testing it for starch.
10. Rearrange the letters to find out the words related to plant nutrition.
a. ROPHYLCHLO

b. UNLISUNHGT

c. TERAW

d. TOSAMTA



SANT NIRANKARI PUBLIC SCHOOL
(MONTH-APRIL)Assignment-6

Class — VIl Science (Nutrition in Plants)
1. Green pigments present in the leaves are called
a. Leucoplasts
b. Chloroplasts
c. Chromoplast
d. Amphiplast
2. Which one is saprophytic organism?
a. Neem plant
b. Mushroom
c. Cuscuta
d. Pitcher plant.
3. Insectivorous plants are found mostly in areas which are
a. Dry and sandy
b. Wet and marshy
c. Nitrogen deficient
d. Nitrogen rich
4. Exchange of gases in leaves takes place through
a. Stomata
b. Lenticels
c. Epidermis
d. Guard cells
5. Match the following
Column A Column B
a. Herbivores i. Amarbel
b. Carnivores ii. Yeast
c. Omnivores iii. Cow
d. Saprophytes iv. Lion
e. Parasite v. Cat

6. Fill the blanks with suitable words.

a. During photosynthesis, solar energy is trapped by the pigment called ----------- .
| is the ultimate source of energy.

c. Gas released during photosynthesis is -------------------- .

d. Plant eating animals are called ----------------

e. Minute pores on leaf surface for exchange ofgases are known as -------------- .

7. What are Heterotrophs? Give two examples.

8. What are nutrients? Name main nutrients.

9. Why is sun said to be ultimate source of energy?

10. Name the following.

a. A parasitic plant which is devoid of leaves, having yellow, slender tubular stem.
b. A solution used to test the presence of carbohydrates.

c. A plant that has both autotrophic and heterotrophic nutrition.

d. The by which organism obtain energy from the digested food.



SANT NIRANKARI PUBLIC SCHOOL
(MONTH-APRIL)Assignment-7

Class — VIl Science (Chemical Changes and Reactions)
1. Melting of ice is a
a. Chemical change
b. Physical change
c. Periodic change
d. Both physical and chemical change
2. Which of these is the smallest particle?
a. An atom
b. A molecule
c. A speck of dust
d. A water drop
3. Formation of a compound is
a. Physical change
b. Temporary change
c. Chemical change
d. Reversible change
4. Sea water is a
a. Element
b. Compound
c. Mixture
d. Molecule
5. Match the following
Column A Column B
a. Burning of candle i. Mixture
b. Tearing of paper ii. Compound
c. Burning petrol iii. Physical change
d.Water iv. Chemical change
e. Air v. Both physical and chemical change

6. Fill in the blanks

a. Burning of magnesium is a ------------------ change.

b. The changes that occur in chemical reactions are ------------ )
c. Matters are classified as element, compound and --------------- .
d. Chemical name of H2SO4is ------------------- .

e. In chemical reaction reactants changes into ---------------- .

7. What are physical changes? Give an example.

8. Why water is a compound but air is a mixture?

9. What is crystallization? Give it uses in day today life.

10. Classify as physical and chemical changes.

a. Melting of ice

b. Formation of water

c. Tearing of paper

d. Ripening of fruit

e. Formation of curd from milk

f. Stitching of cloth



SANT NIRANKARI PUBLIC SCHOOL
(MONTH-APRIL)Assignment-8

Class — VIl Science (Chemical Changes and Reactions)
1. Which of the following is a reversible change?
a. Melting of ice
b. Burning of match stick
c. Changing of milk into curd
d. Germination of seed
2. Which of the following is an example of chemical change?
a. Melting of wax
b. Burning of candle wick
c. Heating of iron rod
d. Woolen yarn to knitted sweater
3.In a chemical change
a. Molecule of substance do not change
b. Molecule of substance change
c. Substance remain the same
d. Change is reversible
4. Which of the following is an example of physical change?
a. A bud turning into a flower
b. Rusting of iron
c. Ripening of a tomato
d. Boiling of water
5. Match the following
Column A Column B
a. Milk changes to curd i. slow change
b. Temporary change ii. irreversible change
c. Change of season iii. physical change
d. Rusting of iron iv. can be compressed easily
e. Air v. chemical change
6. Fill in the blanks with suitable words.
a. Rotation of fan is ---------------- change.
b. Dissolving salt in water is a ------------------ .
c. The glowing of tube light is a ----------------- .
d. A bud turning into a flower cannot be a ------------------
e. Change in which a new substance is formed, are called -------------- .
7. How melting of wax is different from burning of wax?
8. Define rusting? Write the condition essential for rusting of iron?
9. Write the characteristic of chemical changes?
10. Write the following chemical changes with the help of chemical formulae:
a. Magnesium + Oxygen --3¥ Magnesium oxide
b. Magnesium oxide + water ---t§ Magnesium hydroxide
c. Copper sulphate + Iron ------ Y Iron sulphate + Copper.r v. chemical change



SANT NIRANKARI PUBLIC SCHOOL
(MONTH-APRIL)Assignment-9

Class — VIl Science (Chemical Changes and Reactions)
1. Which of the following is a chemical change?
a. Melting of ice
b. Rusting of iron
c. Changing of water into ice
d. Dissolving of common salt into water
2. Physical changes are
a. Irreversible
b. Periodic
c. Reversible
d. All of these
3. Chemical change are characterised by
a. Formation of new substance
b. Release of energy
c. Absorption of energy
d. Reversible
4. Symbol that represent sodium is
a.S
b. K
c. Na
d. Fe
5. Match the following
Column A Column B
a. Freezing of water i. Periodic change
b. Photosynthesis ii. Chemical change
c. Rusting of iron iii. Reversible change
d. Burning of coal iv. Irreversible change
e. Changes of season v. Permanent change

6. Write T for true and F for false statements.

a. Iron pipes coated with zinc do not rust.

b. Condensation of steam is a chemical change.

c. Iron and rust are same things.

d. Cutting of log of wood is a chemical change.

e. Heating of iron and Sulpher is a chemical change.

7. What happen when Carbon dioxide gas is passed through lime water? Which
compound is formed?

8. What is Galvanization? Why iron articles are galvanized?

9. Write some methods to prevent rusting?

10. When iron nail is put into a beaker containing copper sulphate solution, the blue
colour of solution slowly change into green.

a. Why does the colour of the solution change?

b. Write the equation involved in this process?

c. Is it a chemical or physical change?



SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
ASSIGNMENT- 1(APRIL 2020-2021)
CLASS: VII

SUBJECT - SOCIAL SCIENCE
Lesson: State Government

Q1. Fill in the Blanks:

Every state in India has a Assembly.
The Head of the State is the .
The political party that has the majority is called the party.

The full form of MLA is
Legislative Assembly is also known as

nmnewNPE

Q2. Name the following:

Political organization which contest election.

A person who stands for election

A fight between various political parties and candidates.

The organ of government involved in making law.

A place where the voters caste their votes.

An organization, which governs the country through its organs.
A person who appoints Governor of state.

The executive head of state in India

N RWNH

Q3. Answer the following:

1. Name some departments of government.

2. What is a Legislative Assembly?

3. What do you understand by the word ‘Government’?

4. What does coalition government mean?

5. Name some political parties of India.

6. When did Telangana become an official state?

7. What is the role of opposition parties in the government?
8. What do you mean by the word Legislature?
9. Who is an MLA?
10.How is MLA elected?

Q4. Long answer questions.

1.How do MLA become a minister or Chief Minister?

2.how does Assembly work?

3. define Government, Legislature, Executive.

4.how does government in a state function?

5. What were the measures taken by government to improve the health
situation?



SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
ASSIGNMENT-2(APRIL 2020 -2021)
CLASS: VII
SUBJECT — SOCIAL SCIENCE
Lesson: Understanding Media

Q1. Fill in the blanks.

1.

2.

3.

has enabled us to think of ourselves as members of a

larger global world
Most of the cartoons that we see on television are from or

It is important that information given by media should be

Q2. Give reasons for the following:

1.

2.

3.

4.

Most television channels and T.V. are part of big business house

because .

Some advertisements are shown repeated by during the same programme
because .

It is common to say that ‘media sets an agenda’

because

is my favourite TV programme because

Q3. Define the following:

Local media
Censorship
Broadcast
Public protest
Media

Mass media

2O NS

Q4. Answer the following :

abrwbd =

Why do you think newspapers are called print media?
Why do we need to analyse the news?

Mention one way in which mass media earns money.
What is a balanced report?

Why is it important to know both sides of the story?

Q5. Long answer questions.

abhwbd =

Describe the relationship between media and technology.

How does changing technology help media to reach more people?
Describe the ways in which mass media thinks of making money.
What is the role of media in Democracy?

Describe the causes why media is not said to be independent?



SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
ASSIGNMENT - 3 ( APRIL 2020 - 2021)
CLASS: VI
SUBJECT - SOCIAL SCIENCE
LESSON: The Atmosphere

Q1. Choose the correct option:

1. Atmospheric conditions for a long period of time is called

a) Weather b) climate c) humidity
2. is weight of air pressing down on Earth.
a) Mass b) air temperature c) gravity d) air pressure

3. The force of the atmosphere against Earth’s surface is
a) Altitude b) air pressure c¢) wind direction d) wind speed
4. In which atmospheric layer do meteors burn up?

a) Troposphere b) stratosphere C) mesosphere d)
thermosphere
5. A description of the current temperature and sky conditions is an
example of
a) Climate b) weather c) forecasting d)
precipitation
6. is the natural heating process of Earth caused by gases
trapping heat in the temperature.
a) Greenhouse effect b) global warming c) climate

7. Air pressure is measured with
a) Thermometer b) barometer c) anemometer d)

pschrometer
8. is a pattern of weather that occurs in an area over
many years.
a) Greenhouse effect b) global warming c) climate
9. How does the energy from the sun travel through space to Earth?
a) By reflection C) by convection
b) By radiation d) by conduction
10. A ‘Tornado watch’ and a ‘Tornado Warning’ are basically the
same thing.
a) True b) False
11. The mesosphere is the hottest layer of the atmosphere.
a) True b) False
12. What causes seasons on Earth?
a) Rotation of Earth c) wind currents
b) Earth’s tilt on its axis d) Earth’s oceans

Q2. Define the following:

1. Troposphere
2. Thermosphere



3. Stratosphere
4. Exosphere
5. cyclone

Q3. Answer the following.

1. What is green house effect?

2. What is global warming? What is its affect?

3. Name the two gases that influence the atmosphere to a great
extent?

4. Define atmosphere.

5. How do all living beings depend on atmosphere for their survival?

6. Which layer is most suitable for flying aeroplanes?

7. What is insolation?

Q4. Give reasons.

1. Why are poles covered with snow?
2. Why don’t we feel the air pressure?
3. Why do astronauts wear a protective gear on moon?

Q5. Long answer questions

1.Explain the circulation of air in atmosphere.

2.Discuss the structure of atmosphere.

3.Describe the composition of the atmosphere.

4.How is nitrogen present in atmosphere used by plants?

5.Explain how oxygen and carbon dioxide is maintained in air?
6.Name different types of weather measuring instruments

7. What are the various categories of wind? Explain with a diagram.



SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
ASSIGNMENT - 4(APRIL 2020-2021)
SUBJECT - SOCIAL SCIENCE
CLASS: VII
LESSON: THE MUGHAL EMPIRE

Q1. Answer in one word:

nmhwnhE

The first Mughal Emperor-

The regent of Akbar-

The name of the book written by Abdul Fazi-
Akbar’s revenue minister-

The main source of income for the Mughal Empire-

Q2. Fill in the blanks:

1. The capital of Mirza Hakim, Akbar’s half brother, was :
2. Akbar became the Emperor of Mughal Empire at the age of

3. Aurangzeb insulted :

4. exercised great influence in Jahangir's court.

5. The Mughals were related to on their mother’s side
and from their father’s side they were successors of

Q3. Define :

oukwnH

Zabt-

Ibadat Khana-
Suba-

Zat-
Mansabdar-
Din-i- llahi-

Q4. Write short answers for the following:

1.

mhkwnN

Why did Mughals emphasise their Timurid and not their Mongol
descent?

Give an account of Akbar Nama and Ain-Akbari.

What were the main features of Sulh Kul?

What were the responsibilities of Mansabdar?

What is the rule of primogeniture?

Q5. Write long answers for the following:

el .

How did the Mughals succeed in ruling the subcontinent?
What is the importance of Red Fort in modern context?
Write a short note on Mughal Military Campaigns.

Who founded the Mughal rule in India and how?



5. Describe the reign of a)Humayun b) Shah Jahan c¢)Jahangir



SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
ASSIGNMENT - 5 (APRIL 2020 -2021)
SUBJECT - SOCIAL SCIENCE

CLASS: VII
Lesson: Towns, Traders and Crafts person

Q1. Write true or false:

nmnewNhE

Merchants preferred to travel individually rather than in caravans.
Traders formed guilds to protect their interests.

Ajmer was the capital of the Chauhan kings in the twelfth century.
Surat was an important trading port on the Bay of Bengal.

The fort at Masulipatnam was built by the Dutch.

Q2. Fill in the blanks:

nmnewNE

The Rajarajeshvara temple was built in
Ajmer is associated with the Sufi Saint

Hampi was the capital of the Empire.
Bronze is an alloy containing and
The Dutches established a settlement at in

Andhra Pradesh.

Q3. Write short answers for the following:

Nk WNHE

What techniques were used to make the Chola bronze statue?

How was water supplied to the city of Thanjavur?

What is bell metal?

How did European gain control of the sea route?

Name the regions with whom the guilds of South India were traded?
Why was Surat called the gate to mecca?

What is hundi?

What do temple town represent?

Q4. Write the answers in about 80-100 words:

b .

o v

Write a brief note about Murshidabad?

What attracted European traders to India?

What kind of market did the small towns have?

What was the system of advances? How did it reflect the life of the
Weavers?

Briefly write about the Chola capital?

Why was Thanjavur so famous? which pilgrimage centres develop
into township?



SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
ASSIGNMENT - 6 (APRIL 2020 - 2021)
SUBJECT - SOCIAL SCIENCE

CLASS: VII
LESSON-OUR ENVIRONMENT

Q1. Fill in the blanks.

1.

2.
3.
4.

5.

The solid crust or the hard top layer of earth is called
The world of non- living elements are called
The world of living organisms are called
The of the earth holds the atmosphere around it.
On every year world celebrates Environment Day.

Q2. Write True/False.

ol

Aquarium is not a natural ecosystem.

Land is a component of human environment.

Road is a human made environment.

Plants and animals are the two major components of abiotic
environment.

Q3. Define the following.

SukwnHE

Environment
Lithosphere
Hydrosphere
Biosphere

Biotic environment
Abiotic environment

Q4. Answer the following in brief.

1.
2.
3.

4,
5. Name the gases that are found in lesser quantities in the

6.

7.
8.
9.

How does the human environment affect biosphere?

What are the different components of physical environment?

The Earth would have been a barren planet without the atmosphere.
Do you agree with the statement? Why?

Man modifies his environment. Give reasons.

atmosphere.

Give reason why earth is home for human beings and other
organismes.

Name the gases that are found in lesser quantity in the atmosphere.
What are the major components of the environment?

What is the barter system?

10.Give four examples of the human made environment.



SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
ASSIGNMENT - 7 (APRIL 2020 - 2021)
SUBJECT - SOCIAL SCIENCE
CLASS: VI

Lesson: The Delhi Sultanate

Q1. Name the following:

U A WN e

The first ruler to establish his/her capital at Delhi.
Two cities built by the Delhi Sultans.

The language of administration under Delhi Sultans.
The first Turkish ruler.

. The ruler who favoured special slaves for military services.

Q2. Define the following:

oukwnH

Hinterland
Masjid

Igta

Igtadar
Garrison town
Bandagan

Q3. Fill in the blanks:

1.

+ N
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. The sultan who built the Moth-ki-Masjid was
. The country from which Ibn Battuta travelled to India is

The Mughal Emperor Humayun was defeated by in
1540.

was the leader of Mongols who invaded Delhi

Sultanate.

Kakatiya dynasty of Warangal is a part of modern
Raziyya was removed from the throne in
A type of coin minted at Delhi is known as
was the founder of Sayyed Dynasty.

Q4. Answer the following questions in short.

nmhwnhE

6.

When and where the idea of “Three orders” was first formulated?
Why did the authors of Persian Tawarikh criticise the Delhi Sultans?
Name the five dynasties of Sultanate period.

What were the types of taxes levied during Alauddin Khalji?

How did Khaljis and Tughlugs help the people of humble birth? How
did it lead to political instability?

Who was Sher Shah Suri? Write few lines about him.

Q5. Long answer questions:



1. Give an account of Alauddin’s administrative measures.
2. Muhammad Tughluqg’'s administrative measure were a failure.
Explain.



SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
ASSIGNMENT - 8(APRIL 2020-2021)
SUBJECTB - SOCIAL STUDEIS

CLASS: VI
LESSON: ROCKS AND MINERALS
Q1. Fill in the blanks.

l. rocks are also called primary rocks.
II.  Gold, petroleum and coal are examples of
[ll.  The thinnest layer of the earth is

IV. Deccan plateau is made of rocks.
V. The two types of igneous rocks are and
VI.  The Taj Mahal is made of :
VII.  Clay changes into limestone into
VIll.  The earth, our homeland is a planet.
IX.  The latin word for igneous is .
X.  The innermost layer of the earth is and the outermost layer of
the earth is

Q2. Answer in one word or sentence.

1. What is the radius of the earth?

2. What is the core of the earth made of?

3. What are the three layers of the earth?

4. What are the main mineral constituents of the continental mass?
5. How much of the earth is crust, mantle and core?

Q3. Define the following.

Rocks

Minerals

Fossils
Metamorphic rocks
Igneous rocks
Sedimentary rocks
Crust

Rock cycle

N RN~

Q4. Differentiate between the following.

1. Sial and sima
2. Extrusive rocks and intrusive rocks

Q5. Answer the following.

1. How are minerals useful to mankind?
2. Why we cannot go to the centre of the earth?



Write about the deepest mine in the world.

Limestone is changed into marble. Explain.

Sedimentary rocks are formed from the sediments. Explain.

Why are indigenous rocks called primary rocks?

Why is it said that rock cycle has neither a beginning nor an end?
How are sedimentary rocks formed?

©ONOO AW

Q6. Long answer questions.

1. What are the uses of rocks?
2. Write a note about earth’s interior with diagram.
3. Write a note on various types of rocks.



SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
SUBJECT -SOCIAL STUDIES
ASSIGNMENT — 9( APRIL 2020-2021)
CLASS: VIl
LESSON: UNPACKING GENDER

Q1. Fill in the blanks.

1.
2.
3.

4.
5

Our society the work done by women at home.
In our society roles are assigned to boys and girls.
Roles assigned to boys and girls in childhood prepare then for future
and :
Most domestic workers are .
. Housework is and work.

Q2. Define the following.

W

Inequality
Discrimination

Women empowerment
Stereotype

Q3. Answer the following.

P WwhN e
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How is stereotyping harmful?

What is meant by invisibilisation of women labour?

What are the similarities between rural and urban women?

Write one example each for stereotypical gender role of boys and
girls.

What are the differences between rural and urban women?
Suggest any four or ays to end gender discrimination.

Q4. Long answer guestions.

1.

1. How does the gender equality help the democratic country.
2.

How does the education brought awareness among the women and
empowered them?

3.Without gender equality, the women empowerment is
meaningless. Do you agree with the statement? Explain with two
examples.

Why are there differences on value attached to the work of males
and females?

Explain different types of gender inequality.



SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
SUBJECT- SOCIAL STUDIES
ASSIGNMENT - 10 (APRIL 2020-2021)

CLASS: VII
LESSON: EMERGENCE OF DEMOCRACY, A HISTORICAL PERSPECTIVE

Q1. Fill in the blanks.

India is a country.
is a key feature of democracy.
Every person is before law.
The idea of is based on the idea of equality.
When people are treated unequally, their is violated.
The first state to implement Mid-Day Meal was
The Indian constitution recognises every person as

NoukwnE

Q2. Define the following.

Universal Adult Franchise
Democracy

Dignity

Constitution

Mid- Day- Meal scheme

newnhE

Q3. Answer the following.

Who are Dalits? Why are they so called?

Enumerate any two laws which aim at ensuring equality in India.
Whys is Universal Adult Franchise important in a democracy?
What are the common forms of inequality that exist in India?

What are the factors on basis ow which inequality is practised in
India?

List the two ways by which government has tried to implement the
equality that is guaranteed in the constitution.

mnewNRE

o

Q3. Long answer questions.

1. Write a note on equality in Indian Democracy.
2. What were the provisions of the Civil Rights Act of 1964. How did it
bring about a change in American society?



DAY 1

Sentence Structure

.- Choose the correct option to complete the following sentences.

7 too close to the fire. You might burn yourself. {Don't be sitting,
Don't sit)

b. can't see what all the excitement is about. We travel to Europe
all the time. (They/We)

c. to the Manager. He wants to know why you were late this
morning . (Must speak/ Speak)

d. up the mountain side. You could fall and break your hones.

(Don't trekked/ Don't trek)

Tick (+) the correct sentences from the options given below.
a. Don't know where we are heading.
We don't know where we are heading.

Where we are heading is not known.

b. Mr. Kumar is a pilot with Air India
A pilot with Air India is Mr. Kumar

Mr. Kumar a pilotis with Air India.

c. Throughout the night the storm raged as the rain fe]].
The storm raged throughout the night and the rain fel].

The rain and the storm raged throughout the night,
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d. They served heverages to the passengers on hoard
The passengers on board were serving refreshments.

Refreshments were served by the passengers on board.

€. Aword is missing in each of these sentences. Put 5 where the word is missing intl
sentence. Then write the type of word that is missing in the brackets.
a. Have to look out for potholes on the road during the Monsoons.
b. The girls called out for Simrin but there was no
c. All day long we waited for to stop but it didn't .
d. Have to rush. I'm already late for school.

Samsher for walks every day.

@

f. Ilike. Ihave them every day.
g. He okay. I spoke to yesterday.

D. Distinguish the phrase from the clause in the following statements. Write P for

phrase and C for clause at the end.
a. The boy on the ship

b. When [ wake up

¢. Putiton the rack.

d. Inthe ballroom

e. When it rains,

f There is hope.



DAY 2
More About Clauses

A. Tick one box to show whether the undertined section of each sentence is a main clause or













DAY 6

Past Forms

'ri o— anlen nhers.
A. Write names of the tense to the descriplions and write the senlchce e

-
r gk wiat hi RN A
| ah st actions that niprpt

[ He alwavs Tocls the y 5 J i

L. Healways locks the door behinid him linmiedintely one after the othes
T R b 1w el g fi1t1%

2 SI‘_I.\ wis sngry becaude her friend hed to) . b i friore simultanenus past actions
repliad to her emails for mpnths.
e e

3- We were walking on the beach just before the

g ast halif ar st
Tsunami hit. Fi S

4, I was writing down the notes as the lecturer | i, action continuing over 4 period up to s

debivered his lecture. specific limie in the past

B. Fill in with the past simple or the past continuous form of the verbs given in brackets.
Hitaimwas— _ [walk] through the graveyard when he (notice) the figure of o
weeping girl by one of the tombs. A cold wind —__ (blow) across the grivevird, When he
_ {get) 10 the tomb by which the weeping figure—___ (sit), she hid disappeared!
‘I‘Hmh&—{&mﬁMtﬂmdt up the bouguet of fowers she had left near the grovestone.

Hewas. Mmhewﬂﬁnmmm it. He the) just about fo-give up when he

Maﬁmmm_—_tmn} to see the little girl by his side. She had come to




DAY 7
Future Forms

1. Identify the tenses and match them with the correct description.

a) I'm sleepy. I'll go to bed.

1) action (n progress at a stated future time

e ———

b) The ship for Venice departs at 2 AM. ' ii) fixed arrangement in the near future

) w:xt“d“ be climbing the Mt. Everest this time | iii) action that will be finished before a -:rm('d_ .
next month. future time |

d) Amazon will be delivering the parcel tomor- |
Tow.
|

iv) timetable or programme

€) Look at the sea. It's getting really rough! v) on-the-spot decision ||
- —]
f w n atthe cinemato vi) action that is the result of a routine ||
night |
@m‘xgmng on vacation for a month next vii) prediction about the future /
h) We had been swimming in the lake for two | viii) action intended 10 be performed in the

‘hours before we reached the shore, near future

i) Will Deepika be visiting you this winter? ix) asking politely about people's arrangements
|

j) I'll be having dinner at the club tomorrow as x) evidence that something will definitely |
" usual happen

k) Shall we visit the 200 this Friday? xi) suggesting something to somebody ‘

5 Fill in the blanks with “will, ‘won', or ‘shall" The st one has been done for you.

Sheila: We hope you a) will be able to swim two laps of the pool today.
. be. I have been swimming for several years now. You

Meena: Of course, Ib)

be able to keep up with me.

M) trymyverybest.Maybele)

8 bcablelodoummyhps
‘as you as | am out of shape,

‘Meen: nwnwwoﬂadommiakn——bewmhiﬂsus?s!—____m
eila: 1 h) ask them but my daughteri) —___ be able to come because

be a bad idea to video tape the event for others to waich,
organize that immediately!



¢) Identify the function of the noun clause in these sentences.
wkmmm;dmmimmgmume.










